TRIGONOMETRY HOMEWORK 4

In Exercises 1-4, find the values of all remaining five trigonometric functions of the angle 4, based
on the given quadrant information. Use exact values!

1. sinf = —g, 0 in quadrant III.
2 .
2. cosf = — 0 in quadrant II.

3. cotfh = —-g, @ in quadrant IV.
4. csch = /10, 9 in quadrant II.

99 2 '
5. Assume cosf) = ——— and sinf = ——. Find the exact values of all six trigonometric functions,
as well as the quadrant location, for each one of the following:

(a) —6;
(b) m+6;
(c) m—@.

In Exercises 6-9, find the exact values of all six trigonometric functions for the given angle 6. If
any value is undefined, state so.

6. 0 = —585°
7. 0 =870°
5
8. 0= v
9.0=_2"
3

In Exercises 10-13, you are asked to verify the given identity.
10. sect — cost = tantsint.
11. cosz +sinxtanz = secx.

12. (tan s+ cot s)(sin s + cos s) = secs + csc s.

1 1
13. — 2sec® w,
1 —sinw T 1ismw _ 2CY

In each one of Exercises 14-15, you are given a certain equality, which you are asked to show that
is a false identity, so you need to find one value for the variable, for which the equality is not true.

14. (sinz + cos z)® = sin® r + cos® x.

15. tan(2z) = 2tanz.
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